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|. The ratio of arms of a

quadrilateral is@: 3:

4:5 and the
" circumference is

616 cm. Find out the
smallest arm. (In cm)

TH aqier A et
Ca) 3FI'=I'IT-|' 2:3: 4 5
¥ 3 IR 616 AN
¥ gER o e

@ ) FT AT
a) 84 88
c) 86 d) 90




2 . Simplify the following
expression.

2
50+ %GXIOX«,—YZ 625+12%+36><10+0.5

X 2 =?
= S0+IY40 Brer e = T SIEE

1
625+1ZE+36X10+0.5

X 2 =7
1490 b) 410
c) 1440 d) 1190




3. If Ram can do a piece of work in
9 days and Shyam can complete
the same work in 6 days, then in
how many days will both of them
together complete the work?

I TH TF &7 1 9 AT &
k- 2 T Hhdar g IR w3l
FT H 6 feal H AT
= 2 FFaT &, @ 39 A N TH
AT FF AT FA A
fraaT IHT 9em?

//4/3 % days b) 4% days
3

c)5 3 days d)3 % days

uvlo\e
n

Sl
Q

[ 4



=) n-=2 Y. Suppose the nth term of a

7
) iac i n, n?
,Q N nl N Zﬁ—f series is 1 + 5 + > If there are
2 T 20 terms in the series, then the
t20 MM sum of the series is equal to

AT o fFH Aoit F1 nar

20 §2—(20) (D)™ 142423 afy Aofr ¥
20 qaé,a’rwaﬂa’lm
=0 . lon= Inlw sz\ﬁmﬁ%ﬁa A ¥ fres
2 e g2
2 —= a) 1360 b) 1450
) 91500 237 #1560
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5. A lady walks to her office every day

from home and maintains a fixed
time for the same. On one day she
decreases her speed by 25%. By
what fraction of her usual time will
she be late on that day?

Th HAfgdT W T 33

;

T 4
¥
X
4
i

Wimw|N




6.In a T20 match between India and Australia,

India need to score 120 runs in 10 overs. India
scored 50 runs in the next 3 overs. If run rate is
defined as the average runs that must be scored
to win the match, then what run rate does India
need to maintain in the last 7 overs?

g 3 e & @i v 120 AW A,
R & 10 3HMax & 120 T T HY
TGRIFAT g1 39Te 3 MW HF T F 50
I §a0] IfE I & & & 37 Had & &
™ F g Far o §, &9 dv Ssias
& QU samr s @ifge, af aRaT # A
73T A FT & F @ F §A0 I@AT
grem?

a) 9 runs per over b) 8 runs per over

10 runs per over d) 11 runs per over

| | 12




7. The diagonal of the square is
8V2 cm. Find the diagonal of
another square whose area is
triple that of the first square.
g Fr et 8v2 [T B

g1 &1 Ao A
fSa®sT &F%d ggd
T & &P HT faIre g
a) 8v/5 cm b) 8v3 cm

c) 8v2 cm ﬁﬁ\/ﬁ cm




8. What is the number of
points in the plane of a
triangle ABC which are
at equal distance from
the vertices of the
triangle?

ﬁraﬁrABcé?aTsrﬁ
ﬂ'ﬁﬁ—gaﬁ#?ratm
fraey &, Y o &
aﬁq‘rﬁmz{hw

&7
a)o0 //K)/l
c)2 d)3

| | 14



6
Cj):é’&)(i: €0
/é’

9. Pure ghee costs Rs. 100 per kg. After
adultring it with vegetable oil costing
Rs. 50 per kg, a shopkeeper sells the
mixture at the rate of Rs. 96 per kg,
thereby making a profit of 20%. In
what ratio does he mix the two?

ey oY A AT 100 TTA gfT
et &1 50 wUY ufy Rt &
IATfd df & T AdEe &
& 91¢, Uh gHEGR A0 @1 96
9 yfa frell &Y T @ a=ar §,
S a 20% #1 a1 AT T dE

art & e g # Aemar 87
3:2 b) 2:3
c)1:2 d)3:1

| | 15



10. Tw mplementary angles are such
5]00 that two times the measure of one
23[: 2 S is equal to three times the measure

oof the other. The measure of the
smaller angle is

=(8
é:é >5-"—'8—-340@m; &Y WF FIT TF 919 57 TFR &

F T &1 & IET A &
L\x\z AR% o & dr o > ww 31 o
36 FYOT T ATT Traer &2

}, B b) 30°
36° d) none of these




50+ 30+25= |05

In a bag, there are coins of

25 p, 10 p and 5 p in the

5
B525 <
—65—

*
/rfzs b) 15
5

ratio of 2: _L’L@'espectively.
If the value of all the coins is
X5.25,then how many 5p
coins are there in the bag?

wF dar F 2589, 10 39
IR 5 3T F RAFF FAM:
: 3:5 & 3qard #H &
I & HAed
35,258, ar & & 5 ¥
frasr RFs &2

e
£

d) 35

| | 17



12.In the triangle ABC, AB = 2cm,

BC = 3cm and AC = 4cm. D is
the middle point of AC. If a square is
constructed on the side BD, what is
the area of the square?

fastsr ABC #&, AB = 29#0Y, BC =

31#&3?1?,4(: 4 QA &1 AC F1
ﬁ;p %laﬁaﬁnBDtR

waﬁ ST }, ar &t

a»'raﬁmﬁ»—dm%?

a) 4.5 cm?

2.5 cm?

c) 6.25 cm?
d) None of the above

| | 18



13. A monkey is riding on a pole. He rides

IZW) -U)m 3 g mfY 12 metre in 1st minute but slips down 4
2 win _ m in the next minute. If the length of

[ 52 the pole is 58 metres then, how much
time will it take to reach at the top of

—12 the pole?
‘”’! ”“f: ~EinD> e b
l AfFaT 3T Aee & 4 #Hex A
@ae sar g1 I @F fir qers
S2 58 Hler § @t @F & i W
\@ Tgad # 38 fRaen §AT FAem?
a) 10 minutes 50 seconds
\48 b) 12 minutes 35 seconds

—> \\l?_: B 6d - 46(12 minutes 50 seconds
6 ' d) 11 minutes 50 seconds

| | 19
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ly. A, B, and C start a business with their

capitals in the ratio 'Qf,(l/?,: 1/2: 1/4.
After 3 months, A increases his capital by
50%, B decreases his capital by 1/3 rd
and C doubles his capital. What is the
share (in Rs. lakh) of B in the total profit of
Rs. 103. 7 lakh at the end of the year?
A B3R C 1/3: 1/2: 1/4%F qarad &
G & WP U cgaard




5.

Manoj decided to give 25% of his income to
his son A and a certain amount to his son B.
If he gave Rs. 2,208 to B which is 92% of
the decided amount and is Rs. 1,542 less
than the amount given to A, then what
percent of his total income did Manoj
decide to give his son B?

HeAYST o 3TYell 3T &T 25% 39 a9 A

a) 16% b) 12%
c) 15% d) 20%

| | 21




6. A man borrows a sum of Rs. 9,792 from
a finance company and returns it in two

722/ ﬂ’g/ equal annual instalments. If the rate of

interest is 12%% p. a. compounded

6({ 2/_7 ? yearly, then the value of each instalment
—_— is:
XS tF FfFd H fad FOAr § 9,792
o AT A gAY 3UR oar § 3k s
_5% & WA afie feedl & eterdm g
19 _Gago- ﬂﬁﬂaﬁgﬁrmaﬁau%%
T AR gfad &, o afE T & SR b
A At wew fred Y TR fraet § 2
a)Rs. 5,670 b)Rs. 5,751
/Rs. 5,832 d) Rs. 5,760

| | 22



(7.The salaries of two friends are in
the ratio of ﬂ If the difference
in their 1\/salar|es is Rs.
3,000, then find the sum of their

salaries.

A Y & dad F1 AT
3.4 ¥ IR 3% Aad &0
AT 3,000 TG &, o IO+
ddd &1 IR ATd HAT |
a)Rs. 19,000  b)Rs. 18,000
/fks.m,ooo d) Rs. 24,000




(8. A train covers the distance between

two stations X and Y in 6 hours. If
the speed of the train is reduced by
13 km/h, then it travels the same

distance in 9 hours. Find the

distance between the two stations

& d i @I}vl
a) 220 km 234 km
c) 185 km d) 215 km




Company Demand (no. | Production
Name of items) (no. of items)
Company A 3500 1500
Company B _592_ _;_(m
Company C | 2500, {1000
Company D 3500

1000\ /
V

IS

[9.The following table shows the

demand and the production of the
items moade by four different
companies. How many extra number
of items did company B produce over
and above the number of items
demanded from it?

A aifesr IR reer - 3rer
FYA] CART TS IS TEA3AT Y
maﬁtmaﬁa&ﬁ?ﬁg
®Ueit B A IAfAIT awqgaHt (A7)
A wEw ¥ Fad  afARed
FEIHT FT 3cutear far 87

a) 2500 b) 2000

/1500 d) 500

| | 25



20.ABCD is a rectangle with

AB = 10 cm and BC =
8 cm. O is the centre of a
circle touching the three
sides AB, BC and CD of the
rectangle ABCD. Find the area
(in cm?) of AOBC.

ABCD UwF 394 § @
AB = 10 ¥t 3Rk BC =
8cm WHI ] 0 TH qd &1
%g & A 3T ABCD A
ofieT syamatt AB, BC 3K cD #t
T T %| AOBC &1

Sahe (YT F) T AT
a) 24 16
c) 22 d) 20

| | 26




21.If the sum of the
circumference and the

diameter of a circleis 232 cm,

then its radius is

I e ga H N vg
AT &1 A9 232 QA §
a9 sushr Bsar &

/28 cm b) 32 cm

c) 26 cm d) 34 cm

| | 27



22. A helicopter still in the air at an altitude
of 360 metres finds that two ships are
sailing towards it in the same direction.
The angles of depression of the ships as
observed from the helicopter are 60°
and 30° respectively. The distance
between the ships (in m) is:

360 HleX T FAS U TH gelldhreeT
FT gq urar ¢ & & serer ™ @
flem & s@fr I @ W &
gelldicey & q@ T gl &
aeTHA HIT HAM: 60° 3 30° T
ar serat & @i i gt (e #) &
2403 b) 270v3
c) 1203 d) 1803

| | 28



Tl + 2n¥ b 22 A tent is cylindrical upto a

height of 6 m and conical above
'nxu,g(_GH 2)(6) it. The diameter of the base is
2 53 90 m and the height of the

conical part is 28 m. What is the

- DX "l_(')(é V% C59< 28 area (in m?) of canvas used in

making it?
6 % d9 6 HeX A FAE aF
us- doAER 3R 3EF  FW

AFATPR g HUR HT AW
90 #Hler 3T yFAIHR HTT

# Fars 28 HAew ¥ o=@
I H 9T 9Tk Sheldr A &1

&P (He2 &) Fa1 872
a) 29051 b) 28951
29401 d) 29257

| | 29




PMMM Balpledh

(34,5), (5,12,13), (7,2v,25), (315,17
Ca,u0u), (i, 60,61), (i12,%5,37), (20,21, 2a), (28,us,53), (33,56,65),(39806)
(13,84,8%), (15, u2,13), (16,63,65), (20,94, o1), (43,55,73), (6572), (3¢,77,85)




2 7 24. The curved surface area of the
V%%_&XY :.’_5"_(7_ sphere is 154 cm?. Find the
! volume of the sphere (rounded off

to one digit after decimal).

y= 1 MY T T TSOT TG 154
2 gt JA F WA FTIAAT
1 v,/p\ S:;rma :;ana TF HF dF
) AT
/‘:fy«?;ZXZ dy1- 529 a)156.9cm3 %179.7cm3
Fe) /'T/f(l): 2 c)161.1cm®  d) 147.8 cm?
— |79
3




(S n) ("f_) _ _Cz_q-: 25. 1::;"90. is equal to whic: of the
'-C O-S_) /CI—S) following (where 6 + E) ?

Lol pwfafee & ¥ fres
S §? (3161 6 # ) ?
1+cos 6 tan 6+1
S _ | a) Lt p) Lan0*
yiend g — TN
SQ "‘tOM ¢ tan 0 +1 1 —sin @

] 32
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26.Rekha and Sonali received

Rs.2800 as wages for 20 days for
the work they did together.
Rekha's efficiency in the work
was three times that of the
Sonali. What are the daily wages
of Sonali?

T I A F e St
s Far 39F QT 378 20
et & #Aoglt § w@ A
2800 39 A F #H Y@
|
o &2
a)Rs. 110 b) Rs. 105
Rs. 35 d) Rs. 40

| | 33
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J2Zy— |2v.

de

9.

If the simple interest
charged for 9 months

0.12 times the money
borrowed, what is the rate

Pnthudbtid-A- A 4
percent per year?

I 9 #A & AT age
5T AT WYURIT  sATS
mmmm:ran
0.12 =T g o gfaera
fraaT 2

a) 15% b) 18%

/16% d) 12%

| | 34



23. Sohan buys an old car for

Zl7 3, 280 Rs. 2,47,000 and spends

-2 65,0 00 Rs. 18,000 on its repairs. If

£ he sells the car for Rs.

13,25-0 2,78,250, his  profit
percentage is:

5 BT 2,47,000 ITIF H
k=T 28 T gt &
i — AAT W
%6"%/?/ 18,000 ¥9X WH AT

gl 3 T FR #]
2,78,250 ¥T9Y H d=dr
T sEEr @ uaerd
fraeT 87

a) 4% b) 6%

/5% d) 3%

| | 35




24. The external diameter of an iron pipe

Z:- (0 Y;ﬁ is 20 cm and its length is 12 cm. If
%;IL- the thickness of the pipe is 1 cm, find

the total surface area of the pipe

2xT1x1qx | + 2N 19x1242 7)-9x12 (takem = 2—72) correct to two places of

decimal.

e G P by
9 98 Wafe oy & A 1 @A §, A
= 2X2L 2w =R GERT
ﬁx (@HTE ¥ & T aF ae)
= NRER Ad ATl (7 = Z dfew)
—.l": |55Q‘% 2)1,662.67 cm?

HY1,552.57 cm?
c)1,442.48 cm?
d)1,772.69 cm?

| | 36
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D, Dz

6 *%

|0
o

oNM—

= 36

20. Mohit and Rohit each

throws a die once. What
is the probability that
the sum of the numbers
appearing on the tops of
two diceis 3 or 5?
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